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What is 79 divided by 37

Work out 124 X 3

Share 60 into 3 equal groups

metres = Half a kilometre
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Work out 85 = Y

What is 72 multiplied by 57?

Find the product of 5, 8 and 9

Round 4,523 to the nearest 1,000
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Find 575 =+ 5

What is 249 X 3?

Multiply Il by 12

Round 4,923 to the nearest 100
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) Calculate S X 12
2)  Divide 69 by 3
3)  Find the product of 3,4 and 5

4) A laptop costs £4,000
A record player costs £472 less than a laptop.

How much does a record player cost?
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Which shape has the largest areqa?

A e ]

Divide 75 by 3

What are the factors of H?

HY)  Write 27 in Roman Numerals.




